GMAT(K-8) Question Booklet SI. No.

NMMS
DEPARTMENT OF STATE EDUCATIONAL RESEARCH AND TRAINING

oz, do&gsd N .N0.N0.0FF. waeg NneH — 3000 2015
STATE LEVEL NMMS EXAMINATION — NOVEMBER 2015

%% — I/PAPER - | 3ong — 8/CLASS - 8
mmﬁé 2336@6 mdsqﬁg ﬁ®C§ /GENERAL MENTAL ABILITY TEST

REGISTER NO. : 4 11 s
"o : 90 AT QONT® /3N noxy wosnsy : 90
TIME : 90 MINUTES ENGLISH / KANNADA MAX. MARKS : 90

6:9256@??1@7? TRWRND

1. 28 t.omr.oo. (OMR) 9083 ©B8E =) 90 TINONT T, PYRFODZ, AR ARSNT.
2. QUy TINWD FEYOD. TG TF 2,000 WOFT.
3. Woewy W[HODY,

* TS TI 0T, NTRIZN0T LOO.

* L.237.u0. (OMR) B TE T3, OBt B0 BRHOWT YOITIT, MTVSTLD JETBONTOT ToY,
BBNY Fs FOOIRT WWITT FIID, D/BF) TooROR ST TOCWOL T [P, LOTOIRENA
T TRE. &,ﬁoe YOZTT/I, 3ew [TRAT DS WTIONIL VVTWINY 0B, O3TTE OING,
RVBAGI, L.237.50°. (OMR) 2030 BIFoD Hed BRBIRBID.

* e @ 20 Je BIR O wwITH wod) "ol 3 wNFY L.owr.sTt. (OMR) Rucd I3 3,
Qe /BF) LS TOWOEF T YVTO3LENK B3T3, et TR, B3 TSN SRCOATOZ BOTIREIF 0N
BowdeR.
200D @ @ @ (T NTOTTH [0I)

4. 2,000 TJ7 OFTN .0TYOZ T3, BINET, BDORTY WOIT YLITRYI, THOW TONEIR WOINYI,

QETLO WDRDY.

5. Loz .s0’. (OMR) Ruag Ants ‘%@éd@ VPHF TN B3R HeDTTL IBHE B BIDTLER.
6. TOezy WBH VONT J0TT YIORT L.237".&5T". (OMR) ez, 38R =edpsTTON STTe L.LRTIT;
7. =0eTy ERBROIAYR FLSeT, BRtOT BRSO, ATV @6%&2’06@ YUTIBOCONTD, TFYTW,

QTeQOAT.

8. uOE T3, BIINYY cIYTe TN WG RRTY B3, BEFOD YONT TRTWOTTe WOITIIOD
SoDeR.

Note : English version of the instructions is printed on the back cover of this booklet.




GMAT(K-8) N A A

SPACE FOR ROUGH WORK
33 WIBTN B
o) T @



GMAT(K-8) OO 0
1. GENERAL MENTAL ABILITY TEST
mmas WPRT TR TOcs
Q@ ) o
(Questions 1 -5) (gzs&mo 1 - 5)

Directions: Complete the following TRBSN : %@@idgd TOITOEONNRLOT
number series by choosing the correct  z503393 ;jogj?sﬁgﬁgbol 302, SN 509@@

number from the given choices. \5)@57\)@5& TPRERRDY.
1. 10,13, 19, 28, 40, ? 2.2,3,7,2,32,57
1) 52 1) 12
2) 55 2) 13
3) 58 3) 14
4) 61 4) 16
3. 7,23,47,79,119,? 4. 122,145,170, 2, 226, 257
1) 149 1) 197
2) 153 2) 198
3) 167 3) 200
4) 169 4) 201

5.1,7,4,9,7,11,10,13,?



GMAT(K-8)
(Questions 6 — 10)

Directions : Find the wrong number in the

given series.

6. 6,7,10,15,21, 31
1) 10
2) 15
3) 21
4) 31

8. 1,2,4,12,48, 240

(ZBnsd 6 - 10)
BRWIND : 3RTNE FerdodY BT
BOS30DT), FOW &WOWD.

7. 2,6,14, 26,62, 126

10. 2,6, 12, 20, 28, 42
1) 2

) 6

) 12

) 28

&~ W N
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(Questions 11 - 15) (FBnss 11 - 15)
Directions : Under each given letter series, BRWRN: TN FPLITOW BSOSO
four alternatives are given. Complete the ~ ©80 3¢Npe o), TOIE ORNFIY

series by choosing the correct one. SRYT. FOOIRTNTRY ©0r Jeedodda),
TREFNRPA.
11T.ml_nmim_ml_n_Imn_|I 12. g_tr_st_q__r
1) mmnmn 1) rqrts
2) nnmmn 2) tqsst
3) mnmnn 3) sqrst
4) mnmmm 4) srqts
13. a_bbc_aab_caaa_bca_ 14. Iklkkk_Kkl_kklklk_
1) ababa 1) klkk
2) aabbb 2) kklk
3) bbaab 3) Iklk
4) aabba 4) klkl

15. FGI, JKM, NOQ, RSU, ?
1) VWX
2) VWY
3) WXY
4) UVZ
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(Questions 16 — 20) (IBnss 16 — 20)

Directions : The following Venn Diagrams =~ ZRWENA: 88 FTINT IT° BINF
TT,0NPTIT  [ORTY  TAINPNTIT
RO 0TI, RRWATT. 38 ROWOTTIR),
AouHE ROGRT BYFH, DS,

shows the relationship among the three
given objects. Indicate the appropriate
diagram to show the relationship.

©® @ @
© & 0O

16. Birds, Crows, Cows 17. Laboratory, Microscope, Specimens
wim}a, FANTD, BTN goireem@o&a, mg\ézss;s, RIOTOND
1) B 1) C
2) C 2) D
3) E 3) E
4) F 4) F

18. Athlets, Doctors, Unmarried 19. Professionals, Engineers, Mechanics
BLTRTHN, FTT, BQTRELI ST, QOVRCHT L, ICTWRT R
1) C 1) F
2) D 2) E
3) E 3) D
4) F 4) A
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20. Ornaments, Gold ring, Box
e3230eOND, 2,3646 TP, ﬁ%ﬁ
1) B

w N

I

) C
) D
) E

(Questions 21 - 25)

Directions : In the given questions there
are four groups of numbers / pairs of numbers /
group of letters of which three are alike and
one is different. Find the one which is
different.

21. 1) 42
2) 72
3) 110
4) 154

23. 1) 8,19
7,15
4,7

9,22

N~ S N SN

SVTU
KMLN
OQPR
GIHJ

25. 1
2
3

)
)
)
4)

(Fnsd 21 - 25)

BRWIN®: 8 TYNY I NV
BB ROTTYOR® FOLBNE / Beek
ﬁo&ﬂémfo / ©IONY MOPYNY ToeR,
rOOPYNT, 303, ARYNTY R 8.0Td
030D BOWOTTI), BROOTIZE. 20T

SR, PIFNS. PRTNDPTD, DR
22. 1) 6

12

N

w
—_
©

4) 28

)
)
)
)
24. 1
2
3
4

ABD
CDB
EFD

)
)
)
) GHF
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(Questions 26 — 31)

Directions : Complete the given analogy
by selecting the correct answers from the
alternatives.

26.6:72 ::11 :?
1) 84
2) 136
3) 212
4) 242

30. GHI:tuv :: KLM: ?
1) nyz
2) wxy
3) xyz
4) zyx

(B3> 26 - 31)

BAWIA | TREZTOT  TOIWF ORNPOT
HOOITPW WTTJTY, BOX FYNST
TRTZONTY, TREF RRVR.

27.

29.

31.

18:81 :: ?:144
1) 12
2) 24
3) 44
4) 46

CDE:EHK:: LMN:?
1) NQT
2) OPQ
3) NQS
4) NPR

COAT : XLZG :: SHIRT: ?
1) FUVEG

2) HSRIT
3) HSRIG
4) GIRSH
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(Questions 32 — 35)

Directions : The following questions are
based on the given diagram below in which
each figure represents a group.

32.

34.

The Researchers who are also
working as Teachers is represented
by the number

égsmﬂom IR TOONE AWFLT
ﬁoéfecz;squ TEARIT 5059323

1) 1
2) 2
) 4
) 6

w

4

The number 4 represents

Rog3 4 TSARWRTW

1) Teachers but not the Authors
égﬁda BTT SeDITY

2) Researchers but not the Teachers
JO3RCTIT =TT égédg

3) Authors who are also the Researchers
[O3RCHITINTV®  SBeDTTY

4) Teachers who are also
Researchers

[O3ReHITINTO® é§563

the

@%ﬁ@o 32 - 35)

BRWIND 1 38 IINT TJNWD BRI
830D, TN T WY AW
YOI, SPORT.

33.

35.

Researchers
[O3RCHIW

O
A

Teachers
dBID
W

Authors
3B

The Authors who are Researchers and
working as Teachers is represented
by the number

éavmﬂ TOOEF JTFLIT TS
BO3RCHITINT 6@33663334 TR
soaﬁé

1) 3

2) 4

3) 5

4) 6

The number 7 represents

ﬁo&ﬁé 7 TRARTRHT

1) Teachers who are also
Authors
SBeDITINTVZ $3TD

2) Researchers who are also the
Teachers

é?ﬁmﬁd&ﬁ [OBREFT
3) Only Teachers

éiﬁdﬁo& MO
4) Only Authors

@G@D%dm& EASDIc]

the
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(Questions 36 — 38)

Directions : Choose and substitute the
correct set of signs in place of
* sequentially, selecting from the given
alternatives to make the equations

meaningful.

36. 10+ 2 =« 146

B R 36 - 38)

BRWINE : TR TIW  FNEFTT LTI,
OPEFPEE  BIPBELD, FRTOT O30T
WD O NI,  * WNWY TN
STeHLEBD DOLVT, TJOITF OPNPOT
&0A.

37.6 *3*7* 10

1) + X, >
2) + X, <
3) + >, X
4) X, +, >

38. 5« 18 =« 6« 15

—
F
«l

[

(Questions 39 - 40)
Directions : In the given equation find

which of the following interchange of signs /
numbers would make the equation correct.
39.35=7+12+17
1) 835and 12
353 12
2) 17and 7
1732 7
3) +and +
+ 3B +
4) +and=

+ B =

(Z3,ne> 39 — 40)

TRBRN &@%&d ANETTLTY 0330
BTN/ m@jmﬁm& DTV TIN
d&f@mﬁ ﬁ&oe?ds@ O03PNTIE T
DOLVTR, FOR LAWO. =

40. 54-10 +18=7

1) 54 and 10
54 %% 10

2) 10 and 18
1003 18

3) —and =
_mgg:
4) +and -
+ ) —

10
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(Questions 41 — 43) (TBnse 41 - 43)

Directions : Find the missing number / BRWEIRY . 2RIDT ﬁmée)@r{%f@ 2983)
letter in the gi trices. N C T
srerinhe given matees BRNHS K023, / ©FTH, TOB> LBOWO.

41. | L | R | T

42. |T |0 | E
H| 2| N
Z|P|J
4| 8|6
V| G| ?
1) H )N
2) | 2) 0
3) J 3) P
4) K 4) Q

43. |D |G | K

11
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(Questions 44 - 48)

Directions : Read the following questions

carefully and find the answers.

44,

45.

46.

Roopa is taller than Leela and shorter
than Shwetha, Tara is shorter
than Leela but taller than Bindu. Who
comes in the middle, if they are asked
to stand in a line according to their
height ?

1) Leela
2) Tara

3) Shwetha
4) Roopa

The age of a father and his son
together is 80 years as on today. The
father will have his 65" birthday
celebration exactly 10 years from
today. The age of the son as on today
is

1
2
3

4

35 years
30 years

)
)
) 25 years
)

15 years

A car covers a distance of 60 km
at the rate of 60 km/h for the first
half of the distance and at 90 km/h for
the second half of the distance. How
many minutes did it takes to cover the
distance ?

(B3R 44 - 48)

maﬁﬁ%‘b

83 BYN BRI TJNE,

ﬁmmm 2.8. wéojwodo wérm
médﬁm 50@3 oo@oi’)o@

44,

45.

46.

SRR DeRPN0B DITTNTRE T3
g‘;cmemos %o%ﬂwg%?, S0 OCRPNOS
E’J%’;ﬂma%? BT WowosNhoT
RYTTNT Y. faa’o‘a‘oez O T
agd%ﬁom:emﬂ TORY AV IewrT,
:nz;zgcseg QTORRTY O30T ?

1) e

) 80T
) %@3
) CRE

&~ W N

Qodn 20 30T DTy WIT TN
SOy 2w 50 80 WIENTINT.
S0T3N YOAOTW 10 JIeNnY I0ST
3@1 653¢ ms%a%mq wwazm@%@ﬁ.
TOMTS ROQR NS TADE, AT, ?
1) 35 2[REND
2) 30 IRENRD
3) 25 IREND
4) 15 JIRENWD

20T T 60km mssm‘i BRTOGE
mwmez 60km/h 308 TTIe T
TSI, 90km/h IenTO B3I,
(Dl aﬁgs DWINTY zs’\ra::’wa'oo1

I 2
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47.

48.

In class of 60 students, 25 are learning
English, 35 are learning Kannada and
15 are learning both. How many are
learning neither English nor Kannada ?

Some boys are standing in a line for
physical education class. Ramesh is
standing in 19" position from left and
Suresh is standing at 9" position from
the right. 6 students are standing in
between Ramesh and Suresh. How
many boys are there in a line ?

13

47. 60 ;smsammw WO ITNECRY,

48.

25 am@?r{e}a QONT® %@oﬁogmg)d,
35 am@?ﬁe}o %5055 womgm%:f )
15 ;Jmé@rﬁeéo adzsmel G@oﬁw%wg&
VONTF LT BZT FOCHRTLTET :10@35
DT, ?

BT 2300 TN FOR) ToWNTL
OO D03TIe8. TeTD STROT 193¢
m@aﬁdeg DOITIE ST,y WTEBD WOROT
9% m@ﬁdg QOSTRR. Te3 I BT
TR 6 ;Jmsc;s?ﬁ@o DodTe8. TISY
a"’o.g ;smz@?ﬁ@wgd ?
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(Questions 49 — 52) TN 49 - 52)
Directions : Identify the number of  ZBEWINW: TN LR WINYY AR
specified geometric shapes in the given  ZRN30D ST ENT FOLONT), TOWD

diagram and mark the correct answer. LB, Wid“s%z TR,

49. How many Triangles are there in the = 50. How many Rectangles are there in the

given figure ? given figure ?

TN TRYTIT ©F300Q |y, 1 Bo0% PBHY ST BeHIRVI?

SDRAVR ?

1) 10

1) 6 2) 12
2) 8 3) 18
3) 12 4) 14
4) 14

52. How many Semicircles are there in the

51. How many Squares are there in the given figure ?
given figure ? 3o IRYTET ©FI0NY amy,
R 2t PR Ry WP 2 SRR IR 2
1) 4
2) 5
3) 8
4) 9
1) 8
2) 10
3) 12
4) 14

14
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(Questions 53 — 56)

Directions :

In the following questions a

word is written according to some code. In

each question a word is given and find how

this can be written in the same code.

53.

55.

If LIFE is coded as ORUYV,

then MIKE can be written as

LIFE Q0w wwwm‘i ORUV 20w
Bo3eez02538, MIKE Q02 mm‘i e
WBOHWIDO

1) NRPV
2) ORPV
3) NQPW

4) NROV

If VIJAYAPURA is coded as
ERQZBZKFIZ, then BELAGAVI can be
written as

VIJAYAPURA
ERQZBZKFIZ 2ot Zode2es0ams,

BELAGAVI Q0w wwa’as’aq
WB0DWTOT

NOW wwsm‘&

e

1) YVOZTZER
2) YVOTZEZR
3) VYOZTZRE
4) YVOZTREZ

15

(IBfiss 53 - 56)

BRWNAL: 83 TINT TFNY 20T
TTIBDY, FOFEST LPRODY WIODSONT.
UTD, wBe TOTedE PRODY Ten
W TONWTITR DOVTIZ), TOW &ROND.

54.

56.

If HISTORY is coded as SRHGLIB,
then GEOGRAPHY can be coded as

HISTORY 0 mwsﬁ SRHGLIB,
NOTH BoFe2e302338, GEOGRAPHY
NOW msaﬁ %R DoFCSTUIOTH

1) TELTIZKSB
2) TVLITZSKB
3) GVLITZSKB

4) TVLTIZKSB

If CRICKET is coded as 3, 18,9, 3,
11, 5, 20 , then HOCKEY can be
written as

CRICKET «0w mwm‘i 3,18, 9, 3,
11, 5, 20 Q0TI TOTCSCTOAIWT,
HOCKEY &ow ?JCS'@’ES’JQ &en
WBORWTTL

1) 8,15,3,5, 12, 25
2) 8,15,3,11,5,25
3) 25,5,11,5,3,15

4) 8,15,3,25,12,5
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(Questions 57 — 61)

Directions : In the questions below the
numbers in the figures are related. Identify
their relationship and find the missing

numbers in the given figures.

@%mfo 57 - 61)

BRWIND : 33 YN BRWE JINTY,
3 SNYYTO® 50@52371% JRODTO®
RORIOTITIY, RRWAITT. 83 RO 0TI,
X WYY 20E) BN ﬁo&%ﬁ%ﬂm&
TOWY &G&ROWD.

2 10 18
1
57. ) 5
2) 6
4 ? 7 3) 8
8 6 19 7 17 14 4) 9
58. | 9 | 3| 7 | 20 11| 5| 9 | 46 13 | 4 | 12| 2
1) 30
2) 35
3) 40
4) 44

o (0 ®

—

2Ll
o oN -

16
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60.

61.

19

23

15

33 | 51

11

48 | 7

14

33
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(Questions 62 - 65)

Directions : In Column — | words are given.
Their codes are given under Column — I
following the same order as in Column —|I. Find
the codes for the letters of words in Column —1
and find the codes for given words in the

questions.

Column - |
- _—
:,{025 |

TEACH
LEARN

GRADE
COMPUTE

62. TELEGRAM
"nT A o
2t A o

36 A m

> > > >
S S & B
S == ==

448 A o

18

([Bnss 62 — 65)

BRWIND: F0z3 — | T IIN JITNY,
BRL3T. B8 TWNY BOeINY, oL — IIT
YN BRET. B3 ROTEINH ITNYYTT
WFONON WITWWONS. FOL — |TYTS
BTN WFONSNR BOFET|/IY, TOW SR
TINYY BRWB TTNON ROTESV,
MR,

Column -1l

gozs — I

n A d o 3§
G A @ P N
$ P o v A
o B vy 6 unu m A
63. CREATE

Ha p A d o A
2% pA d 1 A
Ay a PA @O 1w A
Hh 1 dAr S a
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64. GENERAL
N A n A op
22a A n A P
3% on o P

H$ A m A p

O T

(ONNe]

(ONNe]

(ONNe]

65. Thecode m LY O o A represents

the word

1) TEMPLE

2) TENANT

3) TENDER

4) TARGET

19
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(Questions 66 — 69) (@%ﬁ%‘b 66 — 69)

- . -
Directions : In questions given part of the wzﬁ)ﬁﬁ@o. é)g gg)ﬁs gﬁqﬁgﬁ@) 65@‘?0)33
figure is missing. Identify the missing part »0T0 RN WIPLFTINT. VTIY,
from among the given choices under each F303ROWD TJOD FEN BPLTOH SR

question. BOSTEORRLOT ROITISA.
66.
67.
1)
1)
2)
2)
3) 3
4) 4

20
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N\
| "N
| BN
| TN

21
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(Questions 70 - 72)

Directions : In the questions given there are
figures/words to the top/left of the mirror
indicated by lines and their mirror images are
given in one of the four figures/words to the right
of these. Find the exact mirror image of each
figure/word.

(FBnsd 70 - 72)

BRUWIN BT TJNYY, Tedne
dae%ﬁ/admﬁdgmw 238 /TTNY TJE€d
TIROWNTR), WOLRNTY  FRBEONT. 33
DBINTINE TBe83/TTE AOOIITI T €0
TSWOWTIY, TRWTIVT SoINPOT
BOTEBOND.

» MURTHY hINNSILHA 2 WNELHA

»AHLINWIWN 9 WNETH A

Al » |/

/

N
\
N
N N\
71. \
\
N
N
3)
N
‘ g
72.
© \
\

@,

@
<7
é‘,ﬁi
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(Questions 73 - 75)
Directions :

73.
74. N
o
1)
75.
——>
o] o
O
L O o
1)

In the questions given how a
sheet of paper is folded and punched is shown
by figures. If the paper is unfolded how does it
appear ? Select the correct answer form among

the alternatives given.

o O

o

o

2)

2)

@%ﬁ% 73 — 75)

DREINS @Jawdod w%ﬁ%ﬁe’) 20TN
FRTT DOSCDRY, DA 30g SRRILPTI),
SIRG 0T S0, Yk DoSORE,
a‘b@,qmﬁ LT TN FOLNIT @omdm meb
TS CHRPOT SO, FHE.

CREGRS.
2) 3) 4

o o
o o o o
o o
o o
o o o o
3) 4)
N
o
™
o
&
o
4)

23
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(Questions 76 — 80) (IBnss 76 — 80)

BRWIN : BRLTVE TIJNYY T ENT
3eedONT, FRTWORNT. QAW TRF
Bedony. B TJ 0N FerdoRY,
order to complete the series, select the TREOFRATIED gm@é@g) ey TomFrodned
correct figure from the given choices ? ROITDTRTR, 6:903% =P8 9

® OOO:
SRR

3) 4)

Directions : The questions given consist of

series of figures which are incomplete. In

77. ()

24
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78.

?

z=
.

79.

80. ?
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(Questions 81 - 85)

Directions : In the questions there is some

relationship between the first two figures.
The same relationship holds good for the
second set of figures of which one is missing.
This missing figure is given as one of the
four alternatives. Find the correct answer.

81.

@Q
-
S\

(B> 81 - 85)

BRUWISAL : 39 GRLIDR  TEO3ROW
B3,00Yow ma@s @dc.%a SER
Nowozpébd QTIC RO OTY) NTTC :)ris-cﬂ
ROFD FENTIT. 20T, BRLDZHDL.
BECIROWD TPOD IR BB DO
TodmF oPRTY FORBIITIR, SCHBWPE.

::Q:?

26
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Questions 86 — 87) (B3> 86 - 87)
- _ _ BRWRNL: 88 TYN QT BT NY
Directions : In the following questions two

figures (a and b) are given as problem figures. (a mgﬁ b) ?}D&‘ REEEN egrivon %@éid. 6
Which of the following alternative figures would &SI%E RRTOTOD 23T, HTRENOD 23T

be formed if the first figure is superimposed on  ®°¢&  FOOITDN QLN TP TIT

the second figure ? TOIPF ODPNYY OIS Wy TSRO ?
86.
a
1) 2)
b
3) 4)
87.
a
b
3) 4)

28
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(Questions 88 — 90) (@%ﬁ% 88 — 90)

Directions : In each of the questions there are RRWRND: & 9N @:ﬁf&n) v
four figures. Among these three are alike in @éoi@odd@qojam Oy e:s%e)éﬁ@d, 2NV

some way, while one is different. Find the figure 38 @00 2,000 0eS00Q AT FemoNas.
which is different. BTWT WOW WITY, JPIWONT. 38

VYT TNV T, O TBOWO.

O Q| O]|lA Ol A
O AllA O/ O]l O
2) 3) 4)

1)

88.

89.

LIROO

29
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SPACE FOR ROUGH WORK
aas_ap wdaméﬂ z;eé

30
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SPACE FOR ROUGH WORK
aas_ap wdaméﬂ z;eé

31
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Instructions to Candidates

1. The Question Booklet containing 90 questions and the OMR answer sheet is

given to you.
2. All questions are compulsory, each question carry one mark.

3. During the examination,
* Read the questions carefully.

» Completely darken/shade the relevant oval against Question No. in the OMR answer
sheet, using blue/black ball point pen. Do not try to alter the entry and not to do any stray

marks on OMR Sheet.

* Ex: In a question paper if No. 3 is the correct answer for Question No. 20, then darken

in OMR answer sheet shade circle 3 using blue/black ball point pen as follows.

200102 @ @ (This is an example only)

4. If more than one oval is darkened for a given question, such answer is treated as wrong

and no marks will be given.
5. The candidate and Room Supervisor should sign in the OMR sheet.

6. Candidate should return the OMR answer sheet only to the room supervisor before

leaving the examination hall.

7. The calculator, mobiles and any other electronic devices are not allowed inside the

examination hall.

8. English version of the question paper will be considered as final, in case of any dispute

arising out of variation in translation version.
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PHYSICS

1. The liquid used in clinical

thermometer is
1) Water
2) Alcohol
3) Benzene
4) Mercury

. With respect to waves ‘A’
represents

1) Frequency
2) Wave length
3) Velocity

4) Amplitude

. Heat energy of an object depends
on its particles

1) Speed
2) Number
3) Mass
4) Allthe above
. If an object moving with a uniform
velocity of 10 ms~' for 20 seconds,
then its acceleration during
20 seconds

1) 10 ms™
2) 2ms™?
3)0
4) 0.5 ms™

$eSTY
=

1. FT 30 PITTRTTRQ WERT TF

%
1) Qe
2) eﬁeir%em@s
3) Boes®
4) TOTTH

3TONNER BoWoRHAWOSB ‘A "Bode3R)
TBRAPRT

1) 8don &=

2) 3TON TWRT

3) 8von FIen

4) 3TON T

20T 5:‘3&35 magsgoﬁ:e.—oscows
STNDHRT & THANODS 3N
3¢ B3 WO3T 3 fadagd

10 ms™ QFITHT INTY 2.0W
SDF 20 BIorFnISSR 8I2TT,
@ 20 FBOTNY WTROHY T
dcﬂmc%&ﬁ;

1) 10 ms™

2) 2 ms™?

3) 0

4) 0.5 ms™2
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5. The S.I. unit of momentum is
1) kg ms 2
2) ms™’
3) kgms™’
) 2

4) ms

6. Iftwo bodies of equal masses move
with uniform velocity of ‘V’ and 2V’
then the ratio of their kinetic
energies is

1) 1:2

2)1:3
3) 1:4
4) 1:1

7. The type of mirror used in solar
furnace is

1) Plane mirror
2) Convex mirror
3) Concave mirror

4) Concave lens

8. The bottom of a water tank appears

to be raised because of
1) Reflection
2) Refraction
3) Dispersion

4) Total internal reflection

I
Dozens e.—ooszroeé)eo& TOROT
1) kg ms 2
2) ms™’
3) kg ms™

4) ms 2

F3foue) méoﬁo% QT FITNeH V 13y
2V 930eT Ienag @ImIn3,
OIYNE WBOTTICH WIS

1) 1:2
2)1:3
3) 1:4
4) 1:1

0 ONTNTY VLR TIFD
1) BRNIO TIED
2) T TJEED
3) R, BIFED
4) Q) WWART

WO ATy S0NTOT 3@&53033
SLLNY) 7003 WOWOS TEILL TTED

1) BEFOT
2) W3eTI
3) WeF VPR

4) BoTgeos 0308 JEAPOT
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9. In which of the following sound will
not travel ?

1) Air
2) Water
3) Vacuum
4) Solid

10. The potential energy of a body of
mass 2 kg kept at a height of 10 m
is [g =10 ms—2]

1) 100J

2) 200J

3) 50J

4) 150J

11. Inthe following materials which one
has highest density ?

1) Water

2) lron

3) Hydrogen
4) Mercury

12. The displacement of an object
which moves one complete round
in a circular path of radius 14 mis

1) Om

2) 14m
3) 28 m
4) 88 m

10.

11.

12.

WP B IENT ABRJIHTTY
TRTPHORZ QY ?

2 kg TF0000000% WAITEY,
10 eet3T® QFTTOEYN & TR
‘agzg)sd 33 [g=10ms7?]

1) 100J

2) 200J
3) 50 J
4) 150J

33 39NT TWREY W3¢ Tl MOTE
RBROTLT =By

1) Qe

2) %ag)sa

3) BOXRIT
)

4) TOTTOR

2000 WXH) 14 M [T §TH0T
TPRY 0T Tprer 3By BOAWI
Clate] mﬁswgw

1) Om

2) 14m
3) 28 m
4) 88 m
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13.

14.

15.

16.

CHEMISTRY

An example of chemical change is
1) Rusting of iron

)
2) Magnetizing of steel plate
3) Melting of iron

)

4) Cooling affect produced by ice

Balanced chemical equation is
1) Al + Clz—> AlCl3
2) 2Al+ 2012—> 2AlCl3
3) 2Al + SCZZ—> 3AlCl3
4) 2Al + SCZQ—> 2AICI 5

When sulphur is ignited in air on a
metal spoon, it burns with

following colour of flame
1) palered
2) pale blue
3) pale green

4) pale yellow

In industries synthesis of ammonia
is done by

1) Carl’s process

2) Loranz’s process
3) Haber’s process
)

4) Newton’s process

13.

14.

15.

16.

dmoﬁasmg

TOTRONAT WRCRTBNR VORI

1) 30 2B, LRIV

2) Q03T POTBIR,
FOOSCONNRPROT) TR

3) 3L TRAIT

4) WRHFA0T e T[OFTOIW

DOTRNAITOT TOTOONAT B CITED

1) Al +ClL— AICI

2) 2Al+2Cl,— 2AICI

3) 2Al+3Cl,— 3AICI,
)

4) 2Al + 3C12—> 2AlCl3

nogss a;:@o&:saoz 2WOTH WURY
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LT B0B WD

5 0
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17. The process of transferring of

electronsis
1) Repulsion
2) Oxidation
3) Reduction

4) Attraction

18. The common element present in
bleaching powder and common

saltis
1) Aluminium
2) Sulphur
3) Chlorine

4) Manganese

19. This is used in the sugar industry
to remove colouring matter from

sugar
1) Carbon-di-oxide
2) Sodium carbonate
3) Chlorine

4) Sulphur-di-oxide

AT A
17. adnmnvm, ImrodHE Iged

1) QR

18. BEd PR T, WERF, WOF)
BRINEYNT =TT o>
1) ©e0ee0R0
2) O3
3) 3eox®

4) [RENVCAT

19. Ty, 55&8 TTRERNYY xs&c?
RN, IRoDe WERTT
1) faomed_céé_ej‘%dcse
2) RRECRODO Towder e
3) 3RO

4) ﬁocssd_éd_ejﬁe@
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20. Sodium bicarbonate is used to
prepare
1) Lime water
2) Rose water
3) Salt water

4) Soda water

21. Animal fats or vegetable oil is used
to prepare
1) Coal
2) Baking soda
3) Coke
4) Soap

22. Sodium and potassium are
preserved under
1) Water
2) Salt water
3) Kerosene
)

4) Sugar solution

23. Water gas is the mixture of carbon
monoxide and hydrogen in the
ratio of

1) 3:1
2) 2:2
3) 3:2
4)1:2

20.

21,

22.

23.
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303500300 WERTB

1) AT Qe

2) BeeE® T

3) QUF) T

4) B0 AT

T8 dewy wEse BZWR, Folon
YT, BcIR0VIL: LoTedeeNTTIT
1) Q3 e

2) TR ARCTD

3) dpes®

4) DRI

TRCROI0 T[T mmémﬁo
6@@571@?5:4 QWBY FoeeN245ToTIT

BOROFR) DT DTG T T

TYRLLEN® VIONY WTTTT
OJFOTTRNTOZT



SAT(K-8)

BIOLOGY

24. An animal that can be grouped with

whales, according to the modern
classification

1) Shark

2) Dolphin

3) Seahorse

4) Tortoise

25. The correct combination of
scientist and the kingdom created

by them among the following

1) Copeland — Mycota
2) Whittaker — Protista
3) Linnaeus — Plantae

4) Ernst Haeckel — Monera

26. The component of the animal cell
that helps in the repair of body
parts

1) Ribosome

)

2) Centriole

3) Lysosome
)

4) Mitochondria

BT
=)

24. sGRT TINFCFTNRT T,;T0 B
TR, Swonwn Wed rHoFY

NRRTWTOW®
1) ZoF°F
2) @OTF
)
3) TELBRWT
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27.

28.

29.

30.

In the digestive system of
cockroach the part that acts as a
grinding chamber
1) Crop
2) Hepaticcaeca
3) Gizzard
)

4) Rectum

The functional groups present in
amino acid are

1) Alcohol and Aldehyde
2) Amine and Ketone

3) Carboxyland Amine
4) Ketone and Aldehyde

The Earth’s atmosphere changed
into an oxidizing type due to
appearance of the following

1) Bacteria

2) Virus

3) Bluegreen algae
4) Yeast

The living entity that cannot be
included either under Prokaryotes
or Eukaryotes

1) Virus

2) Bacteria

3) Amoeba

4) Chlamydomonas

10
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31. In the initial days of Earth’s
formation, the lighter elements
distributed in the middile layer

1) Iron and nickel
2) Hydrogen and oxygen
3) Carbon and zinc

4) Aluminium and silicon

32. The correct matching of anorganism

and their scientific name is

A. Dog 1. Naja naja

B. Man 2. Canis familiaris
C. Horse 3. Equus caballus
D. Cobra 4. Homo sapiens

1) A—2,B-4,C—-3,D—1
2) A-3,B-2,C-4,D—1
3)A-1,B-4,C-3,D-2

4) A-4,B-2,C—3,D-1
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33. Food crops are grown along with

leguminous plants to enrich the

soil with
1) Phosphorus
2) Potassium
3) Nitrogen

4) Ammonia

34. The widely accepted system of

classification was proposed by
1) Copeland
2) Whittaker
3) Ernst Haeckel

4) Linnaeus

35. The function of lipids in human
body is
1) Bring down inflammation within

the body

2) Helps in the metabolism of

carbohydrate
3) Promotes skeletal growth

4) Regulate fluid balance in our

body

12
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HISTORY

36. The important cities of Harappan
civilization are

1) Pataliputra, Mohenjodaro,
Harappa

2) Mohenjodaro, Harappa, Nalanda

3) Lothal, Harappa, Ujjain

4) Harappa, Lothal, Kalibangan

37. The statement which does not
belongs to ‘The Vedic Age’

1) The most ancient Veda is
‘Rigveda’

2) The Vedas were in a written form
from the beginning

3) The tribes named Bharata were
called themselves as Aryans
during this period

4) The performance of Yagnas
found in Yajurveda and
Atharvanaveda

38. Read the following sentences and
choose the correct alternate :

A. Ancient monuments enable us
to know about the civilization,
technology, social and
economic conditions.

B. The first Kannada inscription
Halmidi belongs to Mauryan
dynasty.

A is true, B is false

A is false, B is true
Both A and B are false
Both A and B are true

1)
2)
3)
4)
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39. A scientist who was famous as
‘Father of Indian Medicine’ in
Gupta’s period

1) Sushruta
2) Varahamihira
3) Dhanwantari
4) Charaka

40. Pushyabhuti : Vardhana King : :
Pulakeshi :

1) King of Chalukya’s
2) King of Gupta’s
3) King of Kadamba’s
4) King of Ganga’s

41. The language which was developed
during Roman period was

1) Latin

2) Greek

3) Portuguese
4) Spanish

42. Match the following and choose the
correct alternate :

A. Greeks 1. Tupac
B. Aztecs 2. Steles
C. Mayas 3. Tenoch
D. Incas 4. Tyrants

1) A—4,B—2,C-3,D -1
2) A—2,B-4,C—1,D-3
3) A—4,B-3,C-2,D—1
4) A-1,B-3,C-4,D-2
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43. The first dynasty that established
in Karnataka is
1) Shatavahanas
2) Kadambas
3) Gangas
4) Chalukyas

44. The work ‘Gajashastra’ was
written by
1) Gunadya
2) Chavundaraya
3) Durvinita

4) Sree Purusha

45. The chronological order of the
following is :
a. MahapariNirvana
b. Collected in Tripitakas
c. Enlightenment of Buddha
d. Dharma Chakra Pravarthana
1) a,b,c,d
2)d,c,b,a
3)c,dab
4) c,a,b,d
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GEOGRAPHY AND ECONOMICS

46. The boundary that separates the
mantle from the core is called

1) Gutenberg discontinuity
2) Mohorovicic discontinuity
3) Asthenosphere discontinuity

4) Inner core discontinuity

47. The hardest rocks on the earth are
1) Sedimentary rocks
2) Intrusive rocks
3) Metamorphic rocks
)

4) Igneous rocks

48. Construction of Koyna dam in
Maharashtra became a cause for
this natural disaster

1) Volcanic Eruption
2) Tsunami

3) Coastal Erosion
4) Earthquake

49. Greenland and Antarctica are the
best examples for

1) Continental glaciers
2) Valley glaciers
3) Moraines

4) Lagoons
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50. This types of springs are found
more in Australia
1) Geysers
2) Artesian wells
3) Intermittent springs
4) Hot springs

51. This figure represents

HP

1) Planetary winds
2) Trade winds

3) Anticyclones
4) Cyclones

52. The clouds that causes heavy
rainfall and snowfall are

1) Stratus

2) Cumulus

3) Cirrus
)

4) Nimbus

53. Afternoon rains are mostly foundin
1) Polarregions

2) Equatorial regions

3)

)

4) Himachal regions

Temperate regions
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1) W E 1) = T
SW SE %, ]
S =
W =
SW NW & =
&
2) S5 N 2) =
SE NE e 3
E G
s =
%)
SE SW
3 E W 3) =p =
s e
NW
NE e
N
E TR
NE SE £ &
4) N S 4) ero o}
NW SW o) ’_‘z.'.
W o
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55. Agriculture is the best example for

the type of man’s economic activity
1) Consumption activity
2) Exchange activity
3) Distribution activity

4) Production activity

56. The Indian scientist who was
awarded Nobel Prize for leading
international team on the inter
government panel on climate

change
1) Sir C.V. Raman
2) Rabindranath Tagore
3) Angsen

4) R.K.Pachauri

57. The best example for renewable

resources is
1) Coal
2) Gold
3) Solar energy

4) Petroleum
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POLITICAL SCIENCE, SOCIOLOGY &
BUSINESS STUDIES

58. The ancient Greek philosopher
recognised as “The Father of
Political Science”

1) Socrates
2) Plato
3) Aristotle

4) Homar

59. In India the Citizenship Act was
passed in the year
1) 1950
2) 1955
3) 1976
4) 1986

60. |1 was born in India and my parents

are Indians. The method under which
l acquired Indian citizenship ?

1) by registration

2) by birth

3) by incorporation of a new

territory

4) by descent
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61. Recently the officials appointed to

all Grama Panchayat by Karnataka
Government through KPSC

1) BDO
2) EO

3) PDO
4) CEO

62. The minimum age to vote in
India is

1) 18

2) 20

3) 21

4) 25

63. The Father of Sociology is
1) Herbert Spencer

2) Max Weber

3) Karl Marx

4) Auguste Comte

64. The oldest and simplest society in
the Human Society was

1) Hunting and food gathering
society

2) Cattle rearing society

3) Farming society

4) Industrial society
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61.

62.

63.

64.
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1) 18

2) 20
3) 21
4) 25
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65. The culture of one society differ
from the other society. The reason

for this difference is

1) Culture is transmitted from one
generation to another generation

2) Political system changes from
society to society

3) Geographical features, traditions
and needs of the people vary

4) Economic conditions vary from

society to society

66. Division of tasks according to skills
is called
1) Labour
2) Division of labour
3)
)

4

Essential labour

Division of tasks

67. India adopted the policy of
economic liberalization policy in

the year
1) 1990
2) 1991
3) 1992
4) 1995
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68. Among the following countries the
best example for entrepot trade is
1) Singapore
2) India
3) Kenya
4) U.S.A.

69. A partner contribute fixed amount
of capital and share profits and
losses in proportion to their
capital. They take active part in the
day-to-day affairs of the business
is called

1) Active partners
2) Sleeping partners
3) Nominal partners

4) Minor partners

70. The minimum number of members

in co-operative societies is

23
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71.

72.

73.

MATHEMATICS

In the given sum A, B, C are
consecutive digits, in the third row
A, B, C appear in different order.
The values of A, B, C are

ABC

2,3,4
3,4,5
4,5,6

3

1)
)
)
4)

The value of

2./16

1

)
)

3) 16
)

AN
R

98A36 is divisible by 11. Then the
value of A

1) 5
2) 7
3) 9
4) 3
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74. Which is the greatest among the
following ?

) V15 -+/13
) V9 -7
) J11-+9
) J18-+/11

75. If /5 =2.236 and /10

V10-+/5 .
\/E IS

N

A W
—] —
—]

=3.162. The

value of

1) 0.455
2) 0.855
3) 0.655
4) 0.755

76. Choose a fraction which is

equivalent to %

128
) 380
515
2) 1255

415
920

1080
1440

3)
4)

77. What percent of 8.25 mis 75¢cm ?
150,
1) ETH Yo

750
11 &

80,
11 &

100,
17

2)

3)

25

0 R A0
74. 2RYNYY SRYT> Y03 BRFR ?
) V15 -/13
) 9 -7
) N11-+/9
) 18 -1

A W DN
RN N N —

75. 5 =2236 % 10 =3.162

g Y045 .,

76. % DRI a';mﬁlrreé)osmoﬁl
esoﬁaﬁ =R

128
1) 180

515
1255

415
920

1080
1440

77. 825m T m% 3e3tz 75 cm
STHYT 2
150,
1) =%
2) £2%
800,
11
100,
177

3)

4)
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78.

79.

80.

81.

If each dimensions of a rectangle
is increased by 100%, then its area
increased by

1) 100 %

2) 200 %
3) 300 %
4) 400 %

The average of first 10 even
numbers

1) 55
2) 7
) 11
) 21

w

4

The marked price of a radio is 20%
more than the cost price. If the
discount of 10% is given on the
marked price. The gain percent is

1) 12%

2) 8%
3) 20 %
4) 10 %

The sum of a number and its double
is 69. Which is the number ?

1) 46.6
2) 34.5
3)

)

23
4) 20

26

78.

79.

80.

81.

20T SORIT T SRR,
3¢. 100 éagzdd, Dinte)
DCEOF TN ézgg

1) 100 %
2) 200 %
3) 300 %
4) 400 %

Sacy @3y B0 Bosine BoeKo
1) 55

2) 7

3) 11

4) 21

2000 BeRABACT IFRNJT WB00
wgw FInos 20% émwnd.
SWNRRNT WF03 FTed10%
O3RN E ACRTT, RV ezt Y

1) 12%
2) 8%
3) 20 %
4) 10%

20T Hoss, THd TS ITESHS
203 69 $TI & R0l IR ?

1) 46.6
2) 345
3) 23
4) 20
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82.

83.

84.

If X2 - 3x + 1 = 0 then the value of

1is
N
2)
3
4

Ramya is twice as old as Sunitha,
three years ago she was three
times old as Sunitha. The present

age of Ramyais

1) 6 years

)

2) 8 years
3) 12years
4) 14 years

The height of a triangle is % of the

base. If the height is increased by
4 units and base is decreased by
2 units. The area will not change.
Then find the base

27

82.

83.

84.

¥—3x+1=0s38 1 333
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85. If 3*+3 =9 X+1then the value of xis

86.

87.

88.

The value of [(22)1 a [(20)3}2
1) 0

&)
R

)
)
4) 16

The minimum number of
non-collinear points required to

determine a plane is

In which type of triangle, two of its

altitudes are equal ?
1) Rightangled triangle
2) Equilateral triangle
3) Isosceles triangle

4) Scalene triangle
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85.

86.

87.

88.

3 +3 = 9x+ 1533 x § B33
1) 1
2) 2
3) 3
4) 5

4) 16

WOTH smsoaas:& APEOTR
WRZILE  TTLSCRNBRIYT FF
NOTNY xog%

1) 1
2) 2
3) 3
4) 5

3= IFT HERY ©B A0
2T BHTNDIS 2
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89. What value of x makes ASB a
straight angle ?

1) 30°
2) 50°
3) 49°

4) 60°

A
90. In the figure PQ || ST, QRS is

100"
1°

1) 30°
2) 40°
3) 50°

4) 60°

89. x 3 cims Bdcky AOBOBR:,
OHEAHTRNDTD 2

1) 30°
2) 50°
3) 49°
4) 60°

90. 3RO PQ || STend, QR S 2nesd
Ol ket
P Q

100"
iR
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Instructions to Candidates

1. The Question Booklet containing 90 questions and the OMR answer sheet is given to

you.
. All questions are compulsory, each question carry one mark.

. During the examination,
* Read the questions carefully.

* Completely darken/shade the relevant oval against Question No. in the OMR answer
sheet, using blue/black ball point pen. Do not try to alter the entry and not do any stray

marks on OMR Sheet.

e Ex: In a question paper if SI. No. 3 is correct answer for Question No. 20, then darken

OMR answer sheet using blue/black ball point pen as follows.

201D 2 @ @ (This is an example only)

. If more than one oval is darkened for a given question, such answer is treated as wrong

and no marks will be given.
. The candidate and Room Supervisor should sign in the OMR sheet.

. Candidate should return the OMR answer sheet only to the room supervisor before

leaving the examination hall.

. The calculator, mobiles and any other electronic equipments are not allowed inside the

examination hall.

. English version of the question paper will be considered as final, in case of any dispute

arising out of variation in translation version.

MEO0Y : ARLINY 5@ SPIa0 & PRI  TogRNEY  STOLE.
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